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SRADE 12 ESSENTIAL Name:
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Study Notes; Cheat Sheet’. Use your (mine for now) doubled — sided
study notes (cheat sheet) to its full effect. OPEN BOOK this time, but that

IS the purpose of a cheat sheet for the futurel e

Show work /[Show Methodlfor best mark (better marks if you make a

brain fart and easier for you to organize your thoughts). Simply stating an
answer gets no mark

Round decimal answers to nearest 0.01 unless otherwise indicated.
Each individual question is worth 2 marks each.

Formulae and tables have been provided in issued courseware.
For this one quiz you may Collaborate with a classmate if you want, but

show your own work. (ie: not copy!l) & collaborete 4 Not Co \
Put a check mark heref/ [ jf you read these instructions. [1 mark] Pa

You will heed Your own Chet
Sliﬂct SZ: opmyseha'_l’\\-
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MY GRADE 12 ESSENTIAL - STUDY NOTES (Cheat Sheet) Sk:m;,

My Study Notes (cheat sheet) Do your own, or copy these out, or add to them!
To Evaluate expression: BEDMAS order of operations (Brackets, Exponents, Mult & Divide,
Add & Sub)

Algebra: work backwards, (un-evaluate, un-BEDMAS, reverse order)
Problem Solve: Guess and Check, Work Backwards, Use a Formula, Draw Diagram, Use Logic,
Use a Table, Make a List and Count, Find a Pattern, Act it out (model it), etc....
VEHICLE FINANCE

Final Vehicle Cost =
(Dealer price after eco fees, freight, options, etc = Trade in)* tax factor

Vehicle Finance. TDSR (Total Debt Service Ratio) = - —XPRESIMITY) , 100: max 40%

Total Gross Income (monthly)

Cannot have more than 40% of your gross income going towards debt and mandatory payments.
Monthly Amount = Weekly Amt * 52/ 12 = BiWeekly Amount *26 / 12

Exponential Decay (depreciation) of a car's value:
Final Value = Original Value * (1 - annual depreciation rate)’***. Original Value does not
include taxes or ‘extras’. Eg: $30,000 * 0.85'%rear= = §4267.25 for 15% depreciation after 12 yrs

borrowed amount
Monthly Loan Payment = table value * e
One year = 52 weekly periods = 26 bi-weekly periods

. How many litres used 31L xL
Fuel Economy expressed as ratio: rr— » Example: i T gou where x is the

consumption of fuel for 100km. Should be somewhere around 8 to 12L/100 for a normal family car!
Time. 1hr 45min = 1hr + 45/60hr = 1.75 hrs; 3hr20min = 3+20/60 = 3.33 hrs
Fuel Prices at pump already include taxes!!



Formulae:

“uel Economy = —ers Used
100 km Driven

Depreciated value of item = Onginal Value * retained percentage¥**®
~rice of Car = (MSRP + Options+ Eco Fees + etc — Trade-In) * Tax Factor
Overall Cost of Car = Down Payment + Total of Monthly Payments on Loan

At end !
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1. The fuel ‘economy’ [fuel consumption rate] of a certain two-door
convertible is 7.2 L/100 km.

a. Determine how many litres of gasoline are required to drive a
normal yearly 22,000 km.

b. Given the cost of gasoline averages $1.079 per litre (which includes
all taxes), calculate the cost of fuel to drive the convertible on a road

trip for 2,800 km (to Edmonton and back).
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2. Car Purchase. The car you chose costs $34,500 MSRP
(Manufacturer's Suggested Retail Price). You want the fancy stereo
system option for an extra $600. The car has to be shipped from Toronto
and incurs a freight charge of $750. There is an ecology ‘fee’ (excise tax)
of $100 on its air conditioner. You have no trade-in vehicle. You make a
down payment of $2,000 and finance the remainder with a loan.

a. Determine the final dealer’s price of your car with the options and $

freight and ecology ‘fee’. 3%25?”9 3£ 850 - O = 30 ,88
- ™
+ 90 Trode-iw
L 100 _
36,85—0 Prcce o car be.ouu-l:o-m_;

b. Calculate the final price of the car with the retail taxes included.

7% PST and 5% GST ;
| e )369)35'0- 11 = 1,232 wit h toxes

c. You make the down payment of $2,000 and then take a loan on
the remaining balance at 8% for 5 years. Determine your monthly

payments. '7"{, o v s | Frow tables QD.Q%?PE* thousand
— o 3 . 39,23
2,000 Aom A0.38 © 2= G ¢
y23Q Locun to imemce monthi
- : P‘“HMZ’c
d. Determine how much you ended up paying total for the car overall.
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Loan amount

$39.272 ®

Enter the total amount you want to borrow.

Payment frequency

Monthly v ®

How often would you like to make payments?

Interest rate - A 4\ \(L
8 V‘}w ehsale

Enter an interest rate. l \

Amortization
5 years v © SCL-

Select the number of years you'll need to pay back your loan.

monthl

_ UCLV\
Your estimated monthly loan payment N

796 ?o&a)’“e




ears to Repay Lo
Interest A
Rate 1 2 3 4 5 6 7
4.00% $85.15| $43.42| $29.52| $22.58| $18.42| $15.65| $13.67
4.25% $85.26| $43.54| $29.64| $22.69| $18.53| $15.76| $13.78
4.50% $85.38| $43.65| $29.75| $22.80| $18.64| $15.87| $13.90
4.75% $85.49| $43.76| $29.86| $22.92| $18.76| $15.99| $14.02
5.00% $85.61| $43.87| $29.97| $23.03| $18.87| $16.10| $14.13
5.25% $85.72| $43.98| $30.08| $23.14| $18.99| $16.22| $14.25
5.50% $85.84| $44.10| $30.20| $23.26| $19.10| $16.34| $14.37
5.75% $85.95| $44.21| $30.31| $23.37| $19.22| $16.46| $14.49
6.00% $86.07| $44.32| $30.42| $23.49| $19.33| $16.57| $14.61
6.50% $86.30| $44.55| $30.65| $23.71| $19.57| $16.81| $14.85
7.00% $86.53| $44.77| $30.88| $23.95| $19.80| $17.05| $15.09
7.50% $86.76| $45.00| $31.11| $24.18 4| $17.29| $15.34
Cs.oo% $86.99| $45.23| $31.34| $24.4 17.53| $15.59
10.00% $87.92| $46.14| $32.27| $25.36 . $18.53| $16.60
15.00% $90.26| $48.49| $34.67| $27.83| $23.79| $21.15| $19.30
20.00% $92.63| $50.90| $37.16| $30.43| $26.49| $23.95| $22.21
25.00% $95.04| $53.37| $39.76| $33.16| $29.35| $26.94| $25.31

Grode. |



3. Depreciation. You buy a car that is valued at $34,500. You wonder
what your car will be worth after § years in case you want to trade it in for a
newer one. The model you bought depreciates in value at about 23% per

year, year on year (exponential decay) from its original value. Determine
the value of your car after the 5 years.
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500077 now p — 96565
343500 - 0.77 Just k ow an = 26565
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4. Problem Solving. A farmer has 60 animals, pigs and chickens. He
forgets how many of each he has, but he does remember there are 150

legs. Determine how many pigs the farmer has OmMG f Fun |
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Here is how you would do it in Applied or Pre-Calculus

Grade 10
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BONUSES (one mark each if you need them)

1. Convert: Determine the number of minutes in eight weeks.

SR TR TR
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2. Problem Solve. Determine the sum of the counting numbers from 1 to
30. (ie: add them all up)
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3. Solve. Your truck had an initial value of $70,000 when you bought it. It
depreciates (‘exponential decay’) at a rate of 25% per year. When it gets
down to a value of $10,000 you are going to give it to your favourite
nephew, Leland. Determine how many years it will take for the value of
your truck to get down to $10,000 value give or take a couple hundred
bucks. [Solve by guess and check or by any method you may have
learned in other math courses] v Bh ! Guess and

70000 -0.75
check_w,cfl Ldurhlﬁ

16 = 16611.328125
ﬂe{{;j E&.‘lla At least get oo
70000 - 0.75° as cf
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5 an = 124584960938 l
@ ee 70000 - 0.75"
HLU\T li{ﬂ\' = 9343.87207031
e < - 6.5
LS 70000 - 0.75°
ﬁ& Ghech P&P-:'m 1 Pﬁ‘f"t \ = 10789.3741101
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= 10186.1133521



